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Note that since x is replaced by 3x in the standard integral,

1 .
the factor — must be included to compensate. ! . ! :
3 P Note that since x is replaced by 2x in the standard integral,

1 .
the factor 5 must be included to compensate.
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Ex9 Using the Standard Integral: Hzlb\_z ‘ lmu"(_Jﬂ
find,

I 5 L dx :I L 5 dx
X —6x+13 (x—3) +4
(by completing the square)
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u=x-3
du=dx

o
X —6x+13

Now x* —6x +13 must be expressed in terms of .
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Q This question could be given as:
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Use the substitution #=x-3

to find the indefinite integral I <
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Ex 10 New Limits

% When x = 0: u=2sin0=2x0=0
Use the substitution # =2sin x to evaluate IIZO—S.xzdx i
o Tasmx When x =2 u=2sinZ=2x==1
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